Potencias de 10 (J)

8,436 +100

5,38 =100

7,882 100

6,302 = 100

3,154 100

9,641 100

0,066 + 100

7,402 - 100

7,787 + 100

8,854 +100

Calcule los siguientes cocientes.

1,78 = 100

4,613 =100

3,217 +100

1,911=-100

8,568 = 100

7,963 = 100

5,877-+100

5,672 =100

3,665 < 100

2,813+ 100
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Potencias de 10 (J) Respuestas

8,436+ 100
0,08436
5,38 =100
0,0538
7,882+ 100
0,07882
6,302+ 100
0,06302
3,154+ 100
0,03154
9,641+ 100
0,09641
0,066 - 100
0,00066
7,402 + 100
0,07402
7,787 <100
0,07787
8,854+ 100
0,08854

Calcule los siguientes cocientes.

1,78 = 100
0,0178
4,613 =100
0,04613
3,217+ 100
0,03217
1,911 =100
0,01911
8,568 = 100
0,08568
7,963 + 100
0,07963
5,877+ 100
0,05877
5,672+ 100
0,05672
3,665+ 100
0,03665
2,813+ 100
0,02813
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